EXAM MLC QUESTIONS OF THE WEEK

S. Broverman, 2007

Week of January 22/07

You aregiventhat g (t) =.02for t>0and 6 =.1.
Let Z denote the present value random variable for awhole life insurance issued to (20) with
desth benefit 1 payable at the moment of desth. Find E[Z] — (median of Z).

The solution can be found below.



Week of January 22/07 - Solution

With constant force at all ages above 20, we have w = oo, and ;pyy = e 0% .
The median of Z, say m, must satisfy P[Z < m] = .5. We use the following equivalences to
trand ate this probability into oneinvolving 7°(20).

Z<m & eT'<m e 1T > —in(m) & T > —10in(m)

Therefore, .5 = P[T' > — 10In(m)] = e~ 010000 = ;2 & 1y = (5)5 = 03125 = 55 .

1 _ 13

Then E[Z] — (median of Z) =

1_
6 32 96



